M XA Al

H: JAAS PENL(2ELXNINL/ASLEAI
&©?: XNz (=& J)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
XS & Al 32,111,835 21,425,365 10,686,470
= 4,337,000
& 24,309,000
< 3,465,835
KNAAMS FEMNL(ZELNSMNL/NSLEAl) 32,051,050 21,004,700 11,046,350
= 4,337,000
& 24,309,000
< 3,405,050
NS 32,051,050 21,004,700 11,046,350
= 4,337,000
2 24,309,000
< 3,405,050
XY WEEIXNR S2HE(=2D) 9,857,000 5,740,000 4,117,000
= 9,857,000
403 A X EHHSH20IA 9,857,000 5,740,000 4,117,000
& 9,857,000
01 X EHHMA=ZLE L 9,857,000 5,740,000 4,117,000
OMNEEXRNT E2HL 9,857,000
& 9,857,000
AU A SRS AL (212) 10,000,000 0 10,000, 000
& 10,000,000
403 XSS A=0l& 10,000,000 0 10,000,000
& 10,000,000
01 XM A=2EE 10,000,000 0 10,000, 000
OLAH2SH SHEXNY E2X & 10,000,000
& 10,000,000
HEZA & HHEEH FA 214,481 289,481 AT75,000
201 Let2d| 58,100 52,100 6,000
01 At 22l 58,100 52,100 6,000
OXNIEZAZ0F AR 24 56,600
OAHLHS IHz 1,500
202 od4dl 66,381 69,381 A 3,000
01 = LH &4 1l 17,381 17,381 0
OXNYHIMHLAIH=A & X &0 17,381
04 =Xl gt 0d d 49,000 52,000 A 3,000
OZAl & XML & Atell = A 10,800
FAHEZ i #XoH 8,000
OEXZege B oY 8,200
O&&ZAE)z ¥ WS2SEY 12,500
OH&THL & & IH=20F BIXI0HY 9,500
203 YR =&l 80,000 80,000 0
03 AIMZ=XH R =AH| 80,000 80,000 0
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SN BA(SA) - MRAY - BES 0l &t o il HImEET

PEEENEEREESS 50,000
OUHDEEH AHEA 20,000
OXNADEML ABEXN 5,000
OZEFAUM AIMEZ 5,000

303 mat 2 10,000 10,000 0

01 Zaz 10,000 10,000 0
OXSALAH XA 2 AlY 10,000

NAZAl F2AY X 15,652 15,652 0

202 014l 15,652 15,652 0

01 204l 15,652 15,652 0
oURIZE NE - HA 15,652

SAAEFHLHH(PIS) 2E(2D) 300,000 300,000 0
= 300,000

403 XHXISHAI S Xt 2 0 & 300,000 300,000 0
= 300,000

01 IXISHH L= 300,000 300,000 0
OZAHHEHM A (PIS) P= 300,000
= 300,000

MGt Wels CABIXS N 17,017 0 17,017

202 04l 17,017 0 17,017

01 20l bl 17,017 0 17,017
OZANESYL £A 4,739
OZAHE L g2 = 12,278

MEGD B2l TASY =4 1,790,000 2,212,017 A422,017

403 XHXISHAIS X 20| & 1,790,000 2,195,000 405,000

01 KX SR8 X 1,790,000 2,195,000 405,000
OZANETZE W& L Ha 1,760,000
OZAZY HESH 30,000

TRl AAZ 2T AL JHE 44,800 26,800 18,000

201 LBt 34,800 16,800 18,000

01 A2 22l 33,000 0 33,000
OHZOl ahAZ 2] HA B 33,000

03 A2 1,800 16,800 215,000
OYZOl aAAZ 2I| A £ 1,800

308 XX SHAIS 01 & 10,000 10,000 0

01 UXISAZaEE2 10,000 10,000 0
OHEE A2 )| #A SYBE 10,000

2 TEHN A A N 22,000 0 22,000

201 LBt 22,000 0 22,000
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HE: XAAS REWL(RELT ML /NLLZAI)
Sl NRENY EEREED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
01 AP 22| d| 7,000 0 7,000
O3 X&EH CHE &I S A 7,000
03 A2 G H| 15,000 0 15,000
OX& XN&EH CHe &I AL 15,000
&N Ze R=(=21) 5,248,100 8,598,750 A 3,350,650
= 4,037,000
& 1,211,100
403 XX SHHS K20 & 5,248,100 8,580,000 A 3,331,900
= 4,037,000
& 1,211,100
01 XIS A=Z2E X 5,248,100 8,580,000 A 3,331,900
OXNEH =2t = 5,248,100
= 4,037,000
o= 1,211,100
22 ZEHO A 90,000 90,000 0
308 MXISHMSOIA 90,000 90,000 0
01 IXHHIMNEXZ 90,000 90,000 0
OXLJNIZ2ZEHNH HE - AS XM 23 i = 90,000
CAEEZAXNYG SAAIX HEAIS (Z2D) 3,857,000 1,977,000 1,880,000
2 3,857,000
403 XX SHHMS K201 A 3,857,000 1,977,000 1,880,000
2 3,857,000
01 XS AS2E X 3,857,000 1,977,000 1,880,000
SAAIJIR THAH 2 Jx=ME)|IBH B S 3,857,000
2 3,857,000
HATERRA HLAISE(=2D) 595,000 0 595,000
2 595,000
403 XX SHHS K20 & 595,000 0 595,000
2 595,000
01 AIXISHHMA=Z2E X 595,000 0 595,000
O8E=EXNXYE 2K 595,000
2 595,000
HE2AAH| (KIS A2 (DI EH/DIEH) 60,785 420,665 A 359,880
Jle&ddl 60,785 113,765 A 52,980
229 J24H| 60,785 113,765 A 52,980
201 LBt 9| 39,665 39,665 0
01 AP 22| d| 39,665 38,365 1,300
OEMS&Y AtR2t2/d]| 39,665
202 044 10,920 10,920 0
01 2L Y| 10,920 10,920 0
oMY =2UWH0HHI 10,920
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A HHE2H AU (XS AID)(IIEHIIE)

ch: JI24dd| (e H)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o &@ﬁ HRE2
203 € R F & 10,200 26,580 A 16,380
01 JI22HYLRFAH| 6,000 6,000 0
o=% 6,000,000 6,000
04 FASHEYIFFEH| 4,200 20,580 N 16,380

©302! 0Ol ot 350,000& =128 4,200




